CIEO2 spectral tristimulus valuesymay(A)=1
X1M=A11l 1N +A 1M (M) +A1551(A)
Azj 11,9101 -1,11210 ,20197\%570 )
2 E00:3X 1(A\)=21,37
(%, yq=(0,3332,0,3332)
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CIEO2 spectral tristimulus valuesyyay(A)=1
Y1M=Az1l 1(N)+A2M 1 (N)+A2351 ()

Ay 0,3709 0,6290 -0 ,000A$540)

2 E00:3y 1(\)=21 ,37

(x, yy=(0,3332,0,3332)

400 500 600
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CIEO2 spectral tristimulus valuesymay(\)=1
Z23(N=Ag1l 1(\)+AzomM 1 (\)+AgamM (M)
Az 0,000 0,000 1,000 AE430)
2 E00:37 1(\)=21,37
(x, yy=(0 3332, 0,3332)

CIEO2 spectral tristimulus valuesYg;,=100
XW)=Aq1l A)+A1MN)+A1354(A)
Ay 11,9101 -1,11210,2019A%570)
2 E00:3X 4(\)=99 ,99
(x, y)=(0 ,3333, 0,3333)
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